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1. [ have 12 ¢crayons MY rriehd hads 8 Crayons. oW Many moye
Ccrayons do [ have than xmy rriend?

Doyble Bar (BOih Totals Khown)
2. Tedm A sCcored 85 pOints. Tedm B scored 68 points. oW ¢(nahy ¢oye

Points did Team A score than ream B?

Teom A SCored 85 pom'fﬁ. Teom A scored 85 pome‘.

Team B scored 8 points, Teamn B scored (8 points.

HOW many more points did Team How m;my more p@in‘Ts did Team
‘ A score than Team B.

A score than Team B.
A A i 2 |85
R 68| B 68|
: . Teom A scored 85 points.
A ’ 1% ; Te\xm B scored (8 IiNTS
n ‘ . ! — ) | 9.
] ”— GCS How many more p ints did Team
- / : A score than Team Bf S TR
Both of Hhese sections ety |
usl 68 ---becouse A T QR 2=
81 y ,1". 1 2 - 68*;_85
both bars are the same size. i — - > i S
Bl ¢/ 65 =
Both of these sections o'i
equol (8- -becouse S
both bars are the same size. —(c8
|
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3. Taco Bell sold 520 tac0os O0h SAtyrday. raco Mayo sold 480. riow
mahy rewer tacos did Taco Mayo sell?

Doyble Bar (Onhe Total Khown)

4 Tedm A scored 85 plints. This is 17 moOre poinis than ream B. riow
mahy points did redm B scoye?
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ane

X &5 +— total
Teom A 5 L 17 total
i | L7/ |
Bo{h sections , _SP_H‘{'@_
are the same e
size, so both %g.
amounts are 83
the same. 1*::P = [T | _
we find the =y
e bftom, . ©B
amowﬂ- (Team B)is :Check:
the same. (8+11-85¢

' 85 « hotal
K] 4+— tota
Teom A 2 68 11 fatal
Teom B 1/ A o
bol‘t/h sections a‘/ Ve |
are the same ST
size, so both .
amounts are s
the same. I‘:P ! [
we find the
amount, the bottom 68
amoun*l' (Team B) is Che[“
the same. 8+I'I 85V’

5. Jeremy is 4 inches taller thah Ahdrew. Ahdrew is 52 ihches tall. iow

tallis Jeremy?

Jeremy is 4 inches taller +than

Andrew. Andrew is 52 inches Hew
tall is J'eremy

J Ll in.

A 52 +«——0One total
Known

Jeremy is 4 inches taller than

Andrew. Andrew is 52 inches. How
tall is J‘eremy

A >~ 52

Known
Je the bottom <=
bor (Avdrew) 1s 52°,  iSoe: o
+he hP SGC"IO“ + Yy
abowe it is also 527 e
W 1
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Jeremy is Y inches tallec than

Andrew. Andrew is 52 inches. Haow
tall s Ieremy

J P 52 Y in.
52 +«——O0ne total
a ’/ —] nknown
Since the boﬂ'Om

bor (Andrew) is 52,

thenthe top section
above it 1S olso 527

Bar Mode| /Comparison

Bakery Cupeakes

Mor\duy 4yg
Tues.
.This is 1S more than they

.L /q sold on Tuesday.

. The bakery sold 48
cupcakes on Morday.

T Draw a vertical line even

Monday ? 15|48 with he bar below. This represents
the "IS more.

Taes. s I

e ) ____ The areas with the ? are the

l i same amourt.
)

el - 4 . How many cupcakes were

33 sold on Tuesday?
Mondoy ™35 T |48

Y 4 33 cupcakes were sold on

Taes. Toesday.




